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If he admitted to writing the - 19p% 7993 PR 12N5R W 7N
vw, it is not necessary to authenticate it

OVERVIEW

X177 27 maintains that if the 7% admits that the 7w was written with his consent,
he is not believed to make any claims against the "uw. The question is why not.
Seemingly the 1% has a W2 of 7>1m. Our MO proposes three explanations.

nooIn asks:
= 9913 9N YA INT M 119719 NI RNYL INN 9NN ON)

And if you will say; what is the reason that he is not believed that he paid
the loan, since he has a % that he could have claimed that the “vw was
forged. If the m> would have claimed 7 he would not have to pay, unless the m>» is

o»pn the qww. The same ruling should apply when he claims °ny75 (or other claims); he
should not be required to pay unless the M%7 is 2>pn the Ww.

mooIN answers:

- 131 N9 YmWIND 19 42919 91210 YD N9 NNYT 99D U
And one can say; that perhaps the /1 is fearful to claim n»2, lest they will
contradict him, and therefore there is no . If the m> claims >ny7o, no one can
contradict him.> However, if he claims that the 0w is 57, it is possible3 that the m%n will be
able to be o»pn the Tww, thus proving the M to be a liar. The M> therefore prefers the lie of
*nyD over the lie of 7. The idea of a W is that if he were a liar he could have said the better
lie. In this case the ‘better’ lie is ¥179 (where he cannot be contradicted) as opposed to 7™
(where he can be contradicted). He does not want to claim 51, therefore there is no .

mooIn offers another explanation why 1»p% X"X.
- PP P8 PR DN 17T DIVN XNPOT NN DIPNRS DIVIPN W)
And the o9up explained elsewhere that the reason why 1205w 0wa 7710

M»pP% "R is because according to 770 law there is no need for 219 by a

2vw. The reason for this is —
- S]"l N33 171 NIPNIY 15 AV VYN Y DIMNNH DITYY

! See “Thinking it over’ # 1.

* He will choose a time when he was alone with the 19», and claim that he paid him then.

3 1t should be borne in mind that the q0w is not a 7o, for the M2 is admitting that the qvw was written with
his consent. There is a strong likelihood that the m>»n will be able to be o»pn the “vw.

* This may be referring to the 2"awn in w">»y ,m7ph "R A"7 R,¥p 2"2 (M0 in 2"2 frequently refers to the
0"2w"7 "9 in 2"2 as 0WNPI "o [see TIE "k 7"7 &,02 2"2 footnote # 1]).
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That witnesses who are signed on a =ww, it is considered as if their

testimony was already cross-examined and accepted in 7''92 —
= NN 929112 PYV I PP NIRRT NI 12N

And it is (merely) a Rabbinic law that requires the m>» to authenticate

the signatures (but only) in a case where the Mm% claims that it is forged —
- 9NN’ 195399 NI 19) P 17192981 KY NID 199 1) MIYY INYA YaN

However concerning all other claims of the Mm% for instance, ‘it is paid up’

they did not require of the 79 any 21p; and the 3''1 agrees with this as well.
A "W is considered o°pn in regards to all claims of the m% (except for r]”'lm).6 When the m»
claims >nym5 the 7w is considered a7pn. The claim of *nyo is ineffective against a 2™pPn "W,

mMooIN anticipates another possible solution, but rejects it:
= NI $199 91990 9193 119119 RYT WH9Y PN DaN

However, we cannot explain that the reason why he is not believed to
claim ¥192 with a 3% of i is —
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Because, for if the Mm% indeed paid him, then what is the =vw doing in the

hands of the m%n. The Mm% is in the possession of the W, which supports the claim of the
M that the loan was not paid. The 3 is not sufficiently strong (according to this proposed
answer) to support the claim of *ny=5, which is contradicted by the proof of *¥2 "X 7°7°2 R0W.

mooIn rejects this proposed explanation:
- 91}:".1»: N9T 297 NONYMNN THIDA 19901 NI CNINN 93 PYV 95 RNT
For even if the MY claims it was a %K 0w, the X123 concludes shortly,
concerning s'a" statement that the 7% is not believed; even if the "vw is not
opn and the MY therefore has a 2 of 7 —
10: Niayw 'xN 7P XY oM

And there, this reason of >¥2 "X 772 XY is not applicable; the m%» has the
W because the MY entrusted him with it. It cannot be used to disprove the s'm> claim (as in

> The reason is that (n";1) no one is suspected of forging (or signing falsely on) a document.

% See ‘Thinking it over # 2.

" If the loan would have been paid the 7> would have demanded that the uw be returned to him.

¥ A 7R Tuw is (as ""wA explains in 73K T0w 7"7) a note which a prospective m> ‘entrusted’ (hence the term
'mnR") to the prospective m>n, that in case the m? will need to borrow money, the M%7 will already have a
AW in his possession.

° The X3 there states that the ruling of 27 that Mm% is not believed to claim that it is a 7R 0w, is
equivalent to (and based on) the opinion of X117 21 that 12>p% X"X 12n5W qvW2 770

' moon rejection does not necessarily imply that 121 X1vw is not sufficient to negate a 13, it merely states
that there must be an additional reason why there is no 131 (to explain 11nX). See ‘Thinking it over’ # 3
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the case of >ny19). This proves that the reason why *nv1 or other claims of the m?% are not
valid is not on account of "2 ;7°7°2 XYW but rather for the other reasons NM®01N mentioned.

SUMMARY

We do not believe 7>1117 1312 "ny15 because either a) he would rather claim
*ny79 (which is non refutable) than 7”1 (which is refutable) or b) a VW is
considered o pn in regards to all claims [of the mM?] (except 7>1n); but not
on account of c) that °¥2 °X»n 7>7°2 X0W 1s stronger than the 12 (because that
does not explain why X317 773X is not believed).

THINKING IT OVER

1. nooIn states that the M7 is not believed 717 Wa2 since he is fearful 1P
v In the previous Xnww 1"7 Moo, it is stated that »" maintains that just
as the MY is not believed with a 1, so too the 0*7v are not believed with a .
However according to this explanation that the m% is not believed on account of
MY 19, this reason seemingly does not apply to the a7y, for even if other 27y
contradict them it will still be > *n and the “ww will not be o™pn.'*

2. The oawnpn "o and the °"1 maintain that (except where the Mm% claims
77n) no 0P is required (even 133‘17?3).13 The previous Xnyv 73"7 mooin
presumes that we are discussing a case where 17% M1 1R, which means that
he is either not present or is claiming 1’77 2°011X; however he is not claiming
A If he is not claiming 71, then the 70w is considered opn. How
can we believe the 0>7v that 11°7 0°01K; there is no 121 oKXW 7577!

3. Those that maintain that we do believe 77 12»2 179, nevertheless
maintain that 917 113 79K is not believed, for a different reason.”” Why
does M»dOIN argue that 131 7°7°2 XYW is not the reason by Y75 since it is not
applicable by 71nx?'° It is possible that *ny19 is not believed because of X uw
"31 7°7°2 and 7K is not believed for the different reason'’

' See footnote # 1.

12 See 2py> n*2 on that 'onn.

13 See footnote # 6.

1 See there footnote # 9.

15 See 1"7 X 17"7 2,0° MO that RIS Y11 719 9Y DR K.
16 See footnote # 10.

17 See X"wArn. See footnote # 10.

3

TosfosInEnglish.com



